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 التكامل المحدود

𝐚)بحيث  𝐛وحتى الحد  𝐚من الحد  𝐟(𝐱)التكامل المحدود للدالة  < 𝐛) :هي 

∫ 𝐟(𝐱) 𝐝𝐱
𝐛

𝐚

= 𝐅(𝐱)| 𝐚
 𝐛 = 𝐅(𝐛) − 𝐅(𝐚)  

____________________________________________________________ 

 :أمثلة

∫(−𝟒) 𝐝𝐱
𝟒

−𝟒

= (−4x)| −4
 4 = (−4 ∙ 4) − (−4 ∙ (−4)) = −16 − 16 = −𝟑𝟐 

∫(𝟐𝐱𝟑 − 𝐱)𝐝𝐱
𝟏

𝟎

= (2 ∙
x4

4
−

x2

2 ) | 0
 1 = (

x4

2
−

x2

2 ) | 0
 1 = (

14

2
−

12

2 ) − (
04

2
−

02

2 ) = 0 − 0 = 𝟎 

∫(−𝟑𝐱𝟐 + 𝟐𝐱 + 𝟏)𝐝𝐱
𝟐

−𝟏

= (−3 ∙
x3

3
+ 2 ∙

x2

2
+ x) | −1

 2 = (−x3 + x2 + x)| −1
 2  

                                          = (−23 + 22 + 2) − (−(−1)3 + (−1)2 − 1) = −2 − 1 = −𝟑 

∫(𝟐𝐱 − 𝟓)𝟐 𝐝𝐱
𝟒

𝟐.𝟓

= ∫(4x2 − 20x + 25)dx
4

2.5

= (4 ∙
x3

3
− 20 ∙

x2

2
+ 25x) | 2.5

 4  

                              = (
4
3

x3 − 10x2 + 25x) | 2.5
 4  

                              = (
4
3

∙ 43 − 10 ∙ 42 + 25 ∙ 4) − (
4
3

∙ 2.53 − 10 ∙ 2.52 + 25 ∙ 2.5) 

                              = 25.333 − 20.833 = 𝟒. 𝟓  


